LOF Quiz Review

[dentify the parent function. Then, describe the transformations from the parent function.
1) fx) = =2|x| + 4 2) F(x) =;;.(x+ 5)2 -1 3) f(x) = V=5x D fx)=2 +*3[[x + 6]
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Describe the transformations necessary to transform the graph of f{x) into that of g(x).
F=ld _ 5 F0=3%
5 g(x)ﬁ—%(,t—5)+2 g(x)=24-x-3
Fight S ; vp & doon 3

expand horiz byFactecot 2 expand. vech by factaro € 2

write the resuiting function as g(x).

Transform the given function f(x) as described and
7 fx)== 8 f(0)=x"
g transtated right 4; down 2; compress vertically by
X
factor of 5

transiated down 3; reflected with x-axis i . 3
ghy)= X 3 46) =509 -4

Sketch. State the domain and range in set notation for 9, 11, 13, 15 and interval notation for 10, 12, 14, and 16.

D fe)=|x—5-1 | Wl
Ke = ,-1)
; Fi(( 9 ’ o)

s D: (moer ot

b|O R [
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1) f{x) = i(x—l—l)2 -3
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12) f(x) = ~2lx[ +3
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